B3k WTFRHMERRCELYN, £ (3KS) HAD  -HEX

B T ¥ A& Hw | R B Tz 158k | 15~645% | 65U L
2 ¥ 54,132 149,069 75,225 73,844 21,954 112,673 14,442
B B By 755 2,036 1,072 964 321 1,559 156
x + % Hy 1 51 27 24 8 30 13
0 R i) 107 326 153 173 33 211 82
X H F g} 55 192 100 92 30 119 43
N B H7 238 709 3n 338 102 503 104
X H Hy 37 101 53 48 12 68 21
x 1K 7 26 100 50 50 14 64 22
N = :3) 1,622 4,562 2,289 2,273 549 3,421 592
A B & 1 T H 298 833 410 423 122 604 107
X E & 2 T B 279 798 392 406 63 631 104
X B & 8 T H 282 822 403 419 71 652 99
A BE B 4 T B 358 1,009 484 525 113 728 168
X 2 & 5 T B 298 875 430 445 67 702 106
X =25 & 6 T H 254 752 366 386 90 555 107
x5 & 1T T H 260 702 358 344 89 546 67
I & 7 1,568 3,977 2,185 1,792 557 3,124 206
N BZ2 B 1 T H 248 660 339 321 79 465 116
N A B 2 T H 173 433 212 221 55 285 93
N A A 3 T H 443 1,201 644 647 106 1,003 182
N A & 4 T H 523 1,393 674 719 197 1,049 147
N A & 5 T H 335 956 445 511 161 716 79
N A B 6 T B 394 1,098 534 564 126 765 207
N g & 1T T B 406 1,094 538 556 100 819 175
NoOM F i} 182 429 216 213 31 265 133
Bk & T H 52 184 83 101 43 131 10
w ® & 2 T B 147 522 255 267 140 365 17
m % & 3 T H 361 1,280 640 640 330 900 50
H B 1) 3,016 7,518 3,955 3,563 1,209 5,501 718
m = G Hy 2,418 6,513 3,301 3,212 833 4,976 704
& # i) 200 622 317 305 73 41 78
E R Hy 92 345 164 181 56 218 71
Hi F i1} 127 384 182 202 55 269 60
= | AP S = =) 548 1,745 853 892 151 1,428 166
it = B ) 69 191 94 97 25 131 35




B3R HTEHMERERCEL, #i (3X545) FIAD -#EK @)
BT F & %R X = £°8 168 AR | 156~648% | 658Dl E
H 5 By 54 230 100 130 35 144 51
i B Hy 75 276 132 144 38 189 49
) A i} 208 610 304 306 77 445 88
& 1 5,670 15,089 7,712 7,377 2,547 11,285 1,257
2] ® i) 210 489 241 248 59 263 167
1% il Y 7! 187 78 109 18 82 87
T ®» BT 89 330 163 167 35 - 206 89
T iR i) 100 251 138 113 27 172 52
[ LiE: 1) 584 1,785 884 901 249 1,299 237
£ B H Hy 790 2,234 1,123 1,111 224 1,680 330
B 7 3} 27 93 39 54 18 63 12
= o g 1,274 3,280 1,663 1,617 502 2,532 246
F®EeEI L TH 498 1,316 642 674 160 1,007 149
F® A& 2TH 601 1,700 834 866 320 1,248 132
FH A3 TH 310 905 452 453 125 689 91
Fwmed 4 TH 97 259 130 129 29 214 16
FHEeE®m 1 TAH 727 2,020 981 1,039 198 1,654 268
W E&@E 2 TH 536 1,407 692 715 182 1,110 115
FH & ®E 3 T H 341 947 475 472 127 738 82
FHABEE1TH 575 1,619 792 827 219 1,278 122
FH & HE2TH 961 2,654 1,285 1,369 398 1,996 260
FWEEI3ITH 835 2,422 1,179 1,243 360 1,886 176
FTHE®E4TH 1,016 2,862 1,438 1,424 508 2,151 203
FHAE®HE 1 THE 197 566 277 289 47 437 82
FTHAEHE 2TH 626 1,655 805 850 277 1,241 137
TH & m®m 3T H 428 1,078 515 563 194 792 92
FHRE®E 4T H 556 1,464 731 733 312 988 164
® B 1 T H 299 771 395 376 126 540 105
#w ®/ 2 T H 687 1,488 833 655 224 1,190 74
#w ® 3 T H 562 1,309 674 635 261 1,015 33
m B 4 T H 380 806 435 371 122 634 50
BHE OB 1 TH 450 1,442 706 736 112 1,209 121
MEOH 2T H 259 859 406 453 78 722 59
wWHE OB 3T H 195 638 312 326 67 506 65
®EoH 4T H 402 1,239 596 643 102 1,023 114
3 = i1} 330 772 433 339 126 597 49
= | i) 122 442 217 225 51 285 106




¥3% WMTEIMERRCBELZL, S (3X53) FHIAD - #%EX G

B T F & K| R K 5 5°8 15 k#E | 156~648% | 658LIE
th H Hy 746 2,430 1,230 1,200 291 1,819 320
m % g} 544 1,488 741 747 179 997 312
7 M E 1 T H 575 1,415 739 676 294 1,064 57
/oW B 2 T H 515 1,296 669 627 260 962 74
oW ' 3 T B 618 1,212 644 568 118 984 110
WO EH 4 T H 439 1,023 507 516 120 803 100
& ® 5 T H 583 1,428 753 675 120 1,139 169
3 = By 724 2,240 1,093 1,147 258 1,568 414
R i} 250 605 320 285 89 450 66
S By 686 1,931 892 1,039 487 1,330 114
o bH 1 TBH 308 858 433 425 161 640 57
o> b & 2TH 1,134 3,281 1,643 1,638 591 2,521 169
%2> b H 3T H 1,520 4,756 2,397 2,359 891 3,637 228
A2 b B 4 TH 710 2,076 1,027 1,049 363 1,613 100
> b H 5 TH 1,603 4,927 2,436 2,491 852 3,872 203
R By 369 1,077 566 511 213 761 103
= = il 50 174 94 80 13 125 36
ES) A By 5,406 14,855 7,640 7,215 2,089 11,614 1,152




